
Rev. 1 

                                             
90500 – 3-Point Frame Support Kit 

 
 
 
 
 
 
 
 
 
 

 
Mounting Specific Instructions: 
1.  Under the bed of the UTV, locate a stationary frame tube under the dump box that will accommodate 
the Cross Tube Bracket.  The bracket can be mounted on the bottom of the tube OR on the rearward facing 
side of the frame tube, whichever way works the best for clearance.  To install, use one of the three sizes of 
U-Bolts that best fit your UTV based on the size of the tube.  Place the U-Bolts through the correct slots of 
the Bracket, and loosely attach the bracket using the Washers and Nylock Nuts Provided.   

 
2.  Next, pin the Adjustable Link in the Cross Tube Bracket, using the provided bent hitch pin and “J” clip.   

 
 

3.  Run the adjustable link tube to the Kolpin 3-Point Unit.  Pin the other Clevis end to the three point using 
the Bent Hitch Pin provided.  You may have to adjust the tube to fit using the Hole Pattern on the tube and 
secure using the Lock Pin Provided., then by twisting the tubing you are able to fine tune the length of the 
Support Kit. This kit will spread the stress load of your Kolpin Three point system throughout the rear 
frame of your UTV and greatly increase stability and hitch longevity. 

 
 

NO. Description QTY. 
1 Cross Tube Bracket 1 
2 Adjustable Link Tube w/ Clevis 1 
3 5/16” x 2.5” U-Bolt 1” Wide 2 
4 5/16” x 2.5” U-Bolt 2” Wide 2 
5 5/16” x 2.5” U-Bolt 3” Wide 2 
6 5/16” Nylock Nut 4 
7 5/16” Washer 4 
8 5/8” x 3” Bent Hitch Pin 3 
9 R-Clip 3 

Pin in adjustable Link 
as shown here.

Kolpin Outdoors 
205 N. Depot Street, Fox Lake, WI 53933 

Phone #: (877) 9KOLPIN or (920) 928-3118 
www.kolpin.com  customerservice@kolpin.com 


